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5PX5P 5P X3P RGI5 D(mm) 500 450 450
5PX4P 5P X 2P HigEH 3-D16 3-D19 3-D16
4Px4P 3PX3P TinEH 3-D16 3-D19 3-D16
4PX3P 3PX2P RG16 STP 2-D10@150 | 2-D10@150 | 2-D10@150
4Px2P 2PXx2P

F10—2|BXAT DA OZ: Wi Y AL |

ERER WiE) R
{EFRTAER =R RN RN
HEEY )R 8P~5P # 5P LIF
RS FGO08 FGO5
b(mm) 350 350
. D(mm) 900 900
2348 LiRER 5-D22 3-D22
TinER 5-D22 3-D22
STPX 2-D10@150 2-D10@150
2 BE2 B R
{EFRTREAR =R RN RIN> RN
HEY )R 8P~5P # 5P~3P 3P LT
RiE 2G08 2G05 2G03
b(mm) 350 350 350
SnE D(mm) 750 650 650
LiRER 6-D22 4-D22 4-D22
TiHERH 6-D22 4-D22 4-D22
STPX 3-D10@150 | 3-D10@150 3-D10@100
REER BRE' R+
{ERRTRER ® RIN RN RN
BEY )R B 8P~5P # 5P~3P # 3P LT
RiE RGO8 RGO5 RGO3
b(mm) 350 350 350
LiE D(mm) 700 550 550
LinER 5-D22 3-D22 3-D22
TihER 5-D22 3-D22 3-D22
STPX 2-D10@150 | 2-D10@150 3-D10@100
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AROBMPFER

(#No.] 1 BYE XC 0o )Yyt o )
[ =3 HERE B HE BRI WKN) > W(kN)
2F | RESEKE(EEED) 190.00 kN 1/ P 0.00
INBYES R KB (BTKN [£11kN) kN = 0.00
185y 1.60 kN/m 5350 m 8.56
BAR-BEEREEGIEST) (MRt 1Y BR0.2kN 6.05 kN/m’ 6.390 m? 38.66
BERIR(277) 4.90 kN/m’ m? 0.00
BERERE) 6.10 kN/m? m’ 0.00
41 B (RC, CB#i#) 500 kN/m? 10.428 m? 52.14
ENRLUE 0.20 kN/m’ m? 0.00
i E B 550 kN/m’ m’ 0.00
Yo 0.20 kN/m? 5020 m? 1.00
R#Eb/N)La=—— 7.60 kN/m? m? 0.00
AL 515 kN/m’ m’ 0.00
RCF#EY 470 kN/m m 0.00
Z 2400 kN/m® 0.902 m? 21.65
N 2400 kN/m® m 0.00
i 2400 kN/m® 1.260 m® 30.24
152.25
1F |2BEER  (PEBRIMEYIYER0.2kN/ NTiAR) 6.40 kN/mi 6.390 m? 40.90
424473 9.00 kN/mi m? 0.00
KESEKEZFEEED) 190.00 kN 1/ aEmEAHE 0.00
INBYES R K8 (BTKN [£11kN) kN = 0.00
185y 1.60 kN/m m 0.00
BIRGESHT) 585 kN/mi 2 0.00
BEREIR(RTT) 4.90 kN/mi m’ 0.00
BERR(R) 6.10 kN/ni m? 0.00
BB (FH17) 6.90 kN/ni m? 0.00
41B (RC, CB#i#) 5.00 kN/m? 11.713 m? 5857
ENRLE 0.20 kN/m’ m? 0.00
i E B 550 kN/m’ m’ 0.00
Yo 0.20 kN/mi 4165 m? 0.83
Kb/ La=— 7.60 kN/nd m’ 0.00
FHbE 515 kN/mi m? 0.00
RET 7.60 kN/mi m’ 0.00
RCFHEY (/\La=—  FET) 350 kN/m m 0.00
RCFBY (—A M) 6.00 kN/m m 0.00
1REER (RS TFIA) 6.20 kN/m® m 0.00
Z 2400 kN/m® 1.022 m® 2453
INRE 2400 kN/m® m? 0.00
i 2400 kN/m® 1314 m 3154
@
156.36 308.61
@L&mxl' HpER 2400 kN/m® 1622 m° 38.93
[itﬁgllﬁ;* HEEERAE 2400 kN/m® 0.324 m® 778
i})%ﬁg Toth D+@
At @ 4670 355.31
BEY [REREREEEIURE () aum rﬁ
EAL | ERER 24.00 kN/m® m’
R s 2000 KN/m’ ms
HEBEBEE 2400 kN/m’ m’ D+®
®

oL N BREAELORGEBRERAVTHEET %,

R NR-FRFRZTHERLTHEES 5.

AHANEBEOFEIL, RELCLTCEEEREEET 5.
BAFELCEVTRERICRALEAROFTEN LREYDSWEEIE. ZOEICBRLIENTES,



FROBMAFER

[#No.] 2 BYK X ( )Y 1)
[ EEF BAuEE B4 | HE £ W(kN) > W(kN)
F | KREBEKE(EREED) 190.00 kN 1/ fmmRsBa 0.00
INBIEZZR KA (BTN 1K T1kN) kN & 0.00
INTRYE 1.60 kN/m 4.050 m 6.48
BAR - BEERIEGEST) (ommttaIvsookn  6.05 kN/m’ 14378 m? 86.99
BERR(F7) 4.90 kN/m? m? 0.00
BERRE) 6.10 kN/m? m? 0.00
54 B2 (RC, CBti#) 5.00 kN/m? 8.715 m? 4358
ERETUE 0.20 kN/m? m? 0.00
s E B2 550 kN/m? m? 0.00
a4 0.20 kN/m’ 1.980 m? 0.40
AL/ La=— 7.60 kN/m? m? 0.00
b 5.15 kN/m? m? 0.00
RCFEY 470 kN/m m 0.00
Z 2400 kN/m® 1.357 m® 32.57
N 2400 kN/m® m 0.00
* 2400 kN/m® 1.260 m° 30.24
200.25
1F | 2BEER (R Y1y E0.2kN/ nTAR) 6.40 kN/ni 14378 m? 92.02
22473 9.00 kN/ni m? 0.00
REBEKIEEREED) 190.00 kN 1/ fmmRsBa 0.00
INBIEZZR KA (BTN 1K 11kN) kN & 0.00
I85RY+ 1.60 kN/m m 0.00
BREEST) 585 kN/nmi m? 0.00
BERR(F7) 490 kN/mi m? 0.00
BERRE) 6.10 kN/ni m? 0.00
BR (FH17) 6.90 kN/ni m? 0.00
54 B2 (RC, CBti#) 5.00 kN/m? 8.243 m? 4122
ERRETE 0.20 kN/m? m? 0.00
s E B2 550 kN/m? m? 0.00
Py 0.20 kN/mi 2.625 m? 0.53
Kis/\)La=— 7.60 kN/ri m? 0.00
b 515 kN/mi m? 0.00
RET 7.60 kN/mi m? 0.00
RCF#Y (sLa=— FET) 350 kN/m m 0.00
RCFHY (—H M) 6.00 kN/m m 0.00
1REER (RS TFIA) 6.20 kN/m® m® 0.00
Z 2400 kN/m® 1573 m® 37.75
N 2400 kN/m® m 0.00
* 2400 kN/m® 1.314 m® 31.54
@
203.05 403.29
@%}gﬁ;{' Hpg 2400 kN/m® 2174 m® 52.18
[it){zlz\“ EREEE 2400 kN/m® 0.324 m’ 7.78
ki Tt O+
BEtH @ 5995 463.25
F3: (A= 2400 kN/m® m’
HRE%
P | ERES LR 2000 kN/m? m®
ERBE 2400 kN/m® m’ D+®
©)

Yol -NERIUELORGEREZAVTELET 5.
ZNR-BRFRITHERLTHES 5,
AEARBEOFERL. RELCLTEEEREEET 5.

BUREICSVTEERICRALAROFTEN LRLYNMEVNEE (L. ZOEIZEZHIEATED,




FROBMAFER

[#No.] 3 ‘Y X ( YY(C 2 )
[ EEF BAuEE B4 | HE £ W(kN) > W(kN)
F | KREBEKE(EREED) 190.00 kN 1/ fmmRsBa 0.00
INEYES 2K A (3TKN X 1K 11kN) kN ‘ 0.00
I85RY+ 1.60 kN/m 3700 m 5.92
BAR - BEERIEGEST) (ommttaIvsookn  6.05 kN/m’ 13135 m? 79.47
BERR(F7) 4.90 kN/m? m? 0.00
BERRE) 6.10 kN/m? m? 0.00
54 B2 (RC, CBti#) 5.00 kN/m? 7.930 m? 39.65
ERETUE 0.20 kN/m? m? 0.00
s E B2 550 kN/m? m? 0.00
a4 0.20 kN/m’ 1.680 m? 0.34
AL/ La=— 7.60 kN/m? m? 0.00
b 5.15 kN/m? m? 0.00
RCFEY 470 kN/m m 0.00
Z 2400 kN/m® 1.316 m° 31.58
N 2400 kN/m® m’ 0.00
* 2400 kN/m® 1.260 m° 30.24
187.20
1F |2FEER  (REpRILYIYER0.2kN/ A ) 6.40 kN/mi 13135 m? 84.06
22473 9.00 kN/ni m? 0.00
REBEKIEEREED) 190.00 kN 1/ nEmRs e 0.00
INEYE 2K A (3TKN X 1K 11kN) kN ‘ 0.00
I85RY+ 1.60 kN/m m 0.00
BREEST) 585 kN/nmi m? 0.00
BERR(F7) 490 kN/mi m? 0.00
BERRE) 6.10 kN/ni m? 0.00
BR (FH17) 6.90 kN/ni m? 0.00
54 B2 (RC, CBti#) 5.00 kN/m? 5140 m? 25.70
ERRETE 0.20 kN/m? m? 0.00
s E B2 550 kN/m? m? 0.00
Py 0.20 kN/mi 4625 m? 0.93
Kis/\)La=— 7.60 kN/ri m? 0.00
b 515 kN/mi m? 0.00
RET 7.60 kN/mi m? 0.00
RCF#Y (/\)La=— FET) 350 kN/m m 0.00
RCFHY (—H M) 6.00 kN/m m 0.00
1REER (RS TFIA) 6.20 kN/m® m?® 0.00
Z 2400 kN/m® 1.485 m° 35.64
N 2400 kN/m® m’ 0.00
* 2400 kN/m® 1.314 m® 31.54
@
177.87 365.06
@%}gﬁ;{' Hpg 2400 kN/m® 2032 m? 4877
[iuﬁglli\** EREEE 2400 kN/m® 0.324 m’ 7.78
ki |TOM o+@
At @ 5654 421,61
ALV |HREZ 2400 kN/m® m’
HRE%
| ERES LR 2000 kN/m? m®
ERBE 2400 kN/m® m’ D+
©)

Yol -NERIUELORGEREZAVTELET 5.
ZNR-BRFRITHERLTHES 5,
AEARBEOFERL. RELCLTEEEREEET 5.

BUREICSVTEERICRALAROFTEN LRLYNMEVNEE (L. ZOEIZEZHIEATED,




FROBMAFER

[#No.] 4 BYES X( YY(C 3 )
[ EEF BAuEE B4 | HE £ W(kN) > W(kN)
F | KREBEKE(EREED) 190.00 kN 1/ fmmRsBa 0.00
INEYES 2K A (3TKN X 1K 11kN) kN ‘ 0.00
I85RY+ 1.60 kN/m 5000 m 8.00
BAR - BEERIEGEST) (ommttaIvsookn  6.05 kN/m’ 5.148 m’ 31.15
BERR(F7) 4.90 kN/m? m? 0.00
BERRE) 6.10 kN/m? m? 0.00
54 B2 (RC, CBti#) 5.00 kN/m? 9.763 m? 48.82
ERETUE 0.20 kN/m? m? 0.00
s E B2 550 kN/m? m? 0.00
a4 0.20 kN/m’ 3.360 m? 0.67
AL/ La=— 7.60 kN/m? m? 0.00
b 5.15 kN/m? m? 0.00
RCFEY 470 kN/m m 0.00
Z 2400 kN/m® 0.797 m® 19.13
N 2400 kN/m® m’ 0.00
* 2400 kN/m® 1.260 m° 30.24
138.00
1F |2FEER  (REpRILYIYER0.2kN/ A ) 6.40 kN/mi 5148 m? 32.95
22473 9.00 kN/ni m? 0.00
REBEKIEEREED) 190.00 kN 1/ nEmRs e 0.00
INBIEZZR KA (BTN 1K 11kN) kN & 0.00
I85RY+ 1.60 kN/m m 0.00
BREEST) 585 kN/nmi m? 0.00
BERR(F7) 490 kN/mi m? 0.00
BERRE) 6.10 kN/ni m? 0.00
BR (FH17) 6.90 kN/ni m? 0.00
54 B2 (RC, CBti#) 5.00 kN/m? 9.950 m? 49.75
ERRETE 0.20 kN/m? m? 0.00
s E B2 550 kN/m? m? 0.00
Py 0.20 kN/mi 3.565 m? 0.71
Kis/\)La=— 7.60 kN/ri m? 0.00
b 515 kN/mi m? 0.00
RET 7.60 kN/mi m? 0.00
RCF#Y (/\)La=— FET) 350 kN/m m 0.00
RCFHY (—H M) 6.00 kN/m m 0.00
1REER (RS TFIA) 6.20 kN/m® m?® 0.00
Z 2400 kN/m® 0.891 m® 21.38
N 2400 kN/m® m’ 0.00
* 2400 kN/m® 1.314 m® 31.54
@
136.33 274.33
@%}gﬁ;{' Hpg 2400 kN/m® 1.386 m® 33.26
[iuﬁglli\** EREEE 2400 kN/m® 0.324 m’ 7.78
Eﬁ;{ ot D+@
axa @ 4104 315.37
ALV |HREZ 2400 kN/m® m’
HRE%
| ERES LR 2000 kN/m? m®
ERBE 2400 kN/m® m’ D+
©)

Yol -NERIUELORGEREZAVTELET 5.
ZNR-BRFRITHERLTHES 5,
AEARBEOFERL. RELCLTEEEREEET 5.

BUREICSVTEERICRALAROFTEN LRLYNMEVNEE (L. ZOEIZEZHIEATED,




FROBMAFER

[#No.] 5 BYK X ( )Y(C 0 )
[ EEF BAuEE B4 | HE £ W(kN) > W(kN)
F | KREBEKE(EREED) 190.00 kN 1/ fmmRsBa 0.00
INEYE R KAE (BTKN [ 11kN) 31.00 kN & 0.00
I85RY+ 1.60 kN/m 5350 m 8.56
BAR - BEERIEGEST) (ommttaIvsookn  6.05 kN/m’ 6.390 m’ 38.66
BERR(F7) 4.90 kN/m? m? 0.00
BERRE) 6.10 kN/m? m? 0.00
51B¢ (RC, CB#:&) 500 kN/m’ 10.008 m? 50.04
ERETUE 0.20 kN/m? m? 0.00
s E B2 550 kN/m? m? 0.00
a4 0.20 kN/m’ 5440 m? 1.09
AL/ La=— 7.60 kN/m? m? 0.00
b 5.15 kN/m? m? 0.00
RCFEY 470 kN/m m 0.00
Z 2400 kN/m® 0.902 m? 21.65
N 2400 kN/m® m 0.00
* 2400 kN/m® 1.260 m° 30.24
150.24
1F  |2B5FR (PoEBREYIYER0. 2kN/ AR 6.40 kN/ni 6.390 m? 40.90
22473 9.00 kN/ni m? 0.00
REBEKIEEREED) 190.00 kN 1/ nEmRs e 0.00
INBIEZZR KA (BTN 1K 11kN) kN & 0.00
I85RY+ 1.60 kN/m m 0.00
BREEST) 585 kN/nmi m? 0.00
BERR(F7) 490 kN/mi m? 0.00
BERRE) 6.10 kN/ni m? 0.00
BR (FH17) 6.90 kN/ni m? 0.00
51B¢ (RC, CB#:&) 500 kN/m’ 11.693 m? 58.47
ERRETE 0.20 kN/m? m? 0.00
s E B2 550 kN/m? m? 0.00
Py 0.20 kN/mi 3.840 m? 0.77
Kis/\)La=— 7.60 kN/ri m? 0.00
b 515 kN/mi m? 0.00
RET 7.60 kN/mi m? 0.00
RCF#Y (/\)La=— FET) 350 kN/m m 0.00
RCFHY (—H M) 6.00 kN/m m 0.00
1REER (RS TFIA) 6.20 kN/m® m® 0.00
Z 2400 kN/m® 0.902 m? 21.65
N 2400 kN/m® m 0.00
* 2400 kN/m® 1.314 m® 31.54
@
153.31 303.55
@%}gﬁ;{' Hpg 2400 kN/m® 1622 m® 38.93
[iuﬁglli\** EREEE 2400 kN/m® 0.324 m’ 7.78
ki |TOM o+@
At @ 4670 350.25
ALV |HREZ 2400 kN/m® m’
HRE%
| ERES LR 2000 kN/m? m®
ERBE 2400 kN/m® m’ D+
©)

Yol -NERIUELORGEREZAVTELET 5.
ZNR-BRFRITHERLTHES 5,
AEARBEOFERL. RELCLTEEEREEET 5.

BUREICSVTEERICRALAROFTEN LRLYNMEVNEE (L. ZOEIZEZHIEATED,




FROBMAFER

[#No.] 6 ‘Y X ( YY(C 1)
[ EEF BAuEE B4 | HE £ W(kN) > W(kN)
F | KREBEKE(EREED) 190.00 kN 1/ fmmRsBa 0.00
INBIEZZR KA (BTN 1K T1kN) kN & 0.00
INTRYE 1.60 kN/m 4.050 m 6.48
BAR - BEERIEGEST) (ommttaIvsookn  6.05 kN/m’ 14378 m? 86.99
BERR(F7) 4.90 kN/m? m? 0.00
BERRE) 6.10 kN/m? m? 0.00
54 B2 (RC, CBti#) 5.00 kN/m? 9.135 m? 45,68
ERETUE 0.20 kN/m? m? 0.00
s E B2 550 kN/m? m? 0.00
a4 0.20 kN/m’ 1.560 m? 0.31
Kis/\)La=— 7.60 kN/m? m? 0.00
b 5.15 kN/m? m? 0.00
RCFEY 470 kN/m m 0.00
Z 2400 kN/m® 1.357 m® 32.57
N 2400 kN/m® 0.267 m® 6.41
* 2400 kN/m® 1.260 m° 30.24
208.67
1F | 2BEER (R Y1y E0.2kN/ nTAR) 6.40 kN/ni 14378 m? 92.02
22473 9.00 kN/ni m? 0.00
REBEKIEEREED) 190.00 kN 1/ fmmRsBa 0.00
INBIEZZR KA (BTN 1K 11kN) kN & 0.00
I85RY+ 1.60 kN/m m 0.00
BREEST) 585 kN/nmi m? 0.00
BERR(F7) 490 kN/mi m? 0.00
BERRE) 6.10 kN/ni m? 0.00
BR (FH17) 6.90 kN/ni m? 0.00
54 B2 (RC, CBti#) 5.00 kN/m? 9.548 m? 4774
ERRETE 0.20 kN/m? m? 0.00
s E B2 550 kN/m? m? 0.00
Py 0.20 kN/mi 1.320 m? 0.26
Kis/\)La=— 7.60 kN/ri m? 0.00
b 515 kN/mi m? 0.00
RET 7.60 kN/mi m? 0.00
RCF#Y (sLa=— FET) 350 kN/m m 0.00
RCFHY (—H M) 6.00 kN/m m 0.00
1REER (RS TFIA) 6.20 kN/m® m?® 0.00
Z 2400 kN/m® 1573 m® 37.75
N 2400 kN/m® 0.346 m® 8.30
* 2400 kN/m® 1.314 m® 31.54
@
217.62 426.29
@%}gﬁ;{' Hpg 2400 kN/m® 2174 m® 52.18
(TRl |EBEERAE 2400 kN/m® 0.324 m’ 7.78
E@Ug%ff Z DAER/NR) 2400 kN/m® 0531 m’ 12.74 D+®
BEtH @ 5995 486.24
F3: (A= 2400 kN/m® m’
HRE%
P | ERES LR 2000 kN/m? m®
ERBE 2400 kN/m® m’ D+®
©)

Yol -NERIUELORGEREZAVTELET 5.
ZNR-BRFRITHERLTHES 5,
AEARBEOFERL. RELCLTEEEREEET 5.

BUREICSVTEERICRALAROFTEN LRLYNMEVNEE (L. ZOEIZEZHIEATED,




FROBMAFER

[#No.] 7 ‘Y X ( YY(C 2 )
5 5] EfiFS B | HH 2251 IICI) SWGN)
F | KREBEKE(EREED) 190.00 kN 1/ fmmRsBa 0.00
INBIEZZR KA (BTN 1K T1kN) kN & 0.00
I85RY+ 1.60 kN/m 3700 m 5.92
BAR - BEERIEGEST) (ommttaIvsookn  6.05 kN/m’ 13135 m? 79.47
BERR(F7) 4.90 kN/m? m? 0.00
BERRE) 6.10 kN/m? m? 0.00
54 B2 (RC, CBti#) 5.00 kN/m? 8.020 m? 40.10
ERETUE 0.20 kN/m? m? 0.00
s E B2 550 kN/m? m? 0.00
a4 0.20 kN/m’ 1.590 m? 0.32
AL/ La=— 7.60 kN/m? m? 0.00
b 5.15 kN/m? m? 0.00
RCFEY 470 kN/m m 0.00
Z 2400 kN/m® 1.316 m° 31.58
N 2400 kN/m® 0.766 m® 18.38
* 2400 kN/m® 1.260 m° 30.24
206.01
1F | 2BEER (R Y1y E0.2kN/ nTAR) 6.40 kN/ni 13135 m? 84.06
22473 9.00 kN/ni m? 0.00
REBEKIEEREED) 190.00 kN 1/ fmmRsBa 0.00
INBIEZZR KA (BTN 1K 11kN) kN & 0.00
I85RY+ 1.60 kN/m m 0.00
BREEST) 585 kN/nmi m? 0.00
BERR(F7) 490 kN/mi m? 0.00
BERRE) 6.10 kN/ni m? 0.00
BR (FH17) 6.90 kN/ni m? 0.00
54 B2 (RC, CBti#) 5.00 kN/m? 8.085 m? 40.43
ERRETE 0.20 kN/m? m? 0.00
s E B2 550 kN/m? m? 0.00
Py 0.20 kN/mi 1.680 m? 0.34
Kis/\)La=— 7.60 kN/ri m? 0.00
b 515 kN/mi m? 0.00
RET 7.60 kN/mi m? 0.00
RCF#Y (sLa=— FET) 350 kN/m m 0.00
RCFHY (—H M) 6.00 kN/m m 0.00
1REER (RS TFIA) 6.20 kN/m® m?® 0.00
Z 2400 kN/m® 1.485 m° 35.64
N 2400 kN/m® 0818 m® 19.63
* 2400 kN/m® 1.314 m® 31.54
@
211.63 417.65
@%}gﬁ;{' Hpg 2400 kN/m® 2032 m? 4877
(TRl |EBEERAE 2400 kN/m® 0.324 m’ 7.78
%ﬁf Z DAER/NR) 2400 kN/m® 0346 m’ 8.30 D+®
BEtH @ 5654 47419
ALV |HREZ 2400 kN/m® m’
HRE%
| ERES LR 2000 kN/m? m®
ERBE 2400 kN/m® m’ D+®
©)

Yol -NERIUELORGEREZAVTELET 5.
ZNR-BRFRITHERLTHES 5,
AEARBEOFERL. RELCLTEEEREEET 5.

BUREICSVTEERICRALAROFTEN LRLYNMEVNEE (L. ZOEIZEZHIEATED,




FROBMAFER

[#ENo.] 8 BYi& X ( ) Y ( 3 )
B EEF Blufi®E B | HE EXna W(kN) > W(kN)
F | REEEKE(FEEED) 190.00 kN 1/ nEmRAE 0.00
INBYE 2R K HE (3TKN [ 11kN) kN & 0.00
IRTRYE 1.60 kN/m 5000 m 8.00
R BEERIEGES1T) (AT 1Y E20.2kN 6.05 kN/m? 5.148 m? 31.15
HERERRTT) 4.90 kN/m? m? 0.00
HERERE) 6.10 kN/m? m? 0.00
5B (RC, CB# @) 5.00 kN/m? 11.743 m? 58.72
ERNFE L 0.20 kN/m? m? 0.00
PR B BE 550 kN/m? m? 0.00
Py 0.20 kN/m? 1.380 m? 0.28
F#Eb/\La=— 7.60 kN/m? m? 0.00
REb 515 kN/m? m? 0.00
RCF#EY 470 kN/m m 0.00
2 2400 kN/m® 0.797 m® 19.13
INR 2400 kN/m® 0.159 m* 3.82
#* 2400 kN/m® 1.260 m® 30.24
151.32
1F [2BEER  (RERIHEYIYER0.2kN/ ni5A %) 6.40 kN/mi 5148 m? 32.95
& B PR 9.00 kN/ni m? 0.00
AEEEKEREREED) 190.00 kN 1/ PYENN 0.00
INBYES 2R K HE (3TKN [ 11kN) kN & 0.00
IRTRYE 1.60 kN/m m 0.00
BIRGESIT) 585 kN/mi m? 0.00
HERERRTT) 490 kN/m m? 0.00
HERERE) 6.10 kN/mi m? 0.00
BB ($547) 6.90 kN/mi m? 0.00
5B (RC, CB# &) 5.00 kN/m? 11.475 m? 57.38
ERNE L 0.20 kN/m? m? 0.00
PR B BE 550 kN/m? m? 0.00
By 0.20 kN/mi 2040 m? 0.41
Kb/ )La=—— 7.60 kN/mi m? 0.00
Kb 5.15 kN/m m? 0.00
REBT 7.60 kN/nd m? 0.00
RCFEY (N La=— HET) 3.50 kN/m m 0.00
RCFEY (— A MFEEL) 6.00 kN/m m 0.00
1SR (RS THIA) 6.20 kN/m® m® 0.00
Z 2400 kN/m® 0.891 m* 21.38
INR 2400 kN/m® 0.132 m* 3.17
#* 2400 kN/m® 1.314 m° 31.54
@
146.82 298.14
@%‘ﬁx{' Hpp 2400 kN/m® 1.386 m® 33.26
E
li{ﬁgﬂ%\“ AT 2400 kN/m® 0.324 m® 7.78
BYERE
OERE | TOH O+@
BiEg::!
axa @ 4104 339.18
TR B+ RO URE : -
;‘g%ﬁ (2.1EkN/n?Xliz.6kN/n'?$UiZR) ( ) kN/m m
ERLV: | ERR 24.00 kN/m® m®
R " - 3 3
| ERES LR 20.00 kN/m m
E@BEE 2400 kN/m® m’ D+
®

Yol -NERIUELORGEREZAVTELET 5.
ZNR-BRFRITHERLTHES 5,
AEARBEOFERL. RELCLTEEEREEET 5.

BUREICSVTEERICRALAROFTEN LRLYNMEVNEE (L. ZOEIZEZHIEATED,




EYBERVE

20 /41
o o 3.600 1.800
INSR 5.350
27k 00 3.550
BB (FE$H1T)  3.600 7.100 2 6.390 6.390
RS2 3.600 0.100 #z%FY X  0.400 E 0.350 0.238 ST
7.100 0.100 #%Y X 0550 = 0.350 0.664
2[E*E 3.650 0.150 257 x  0.600 0.600 1.260 1.260
ot 5L EE 3.600 0.100 #zxY x  3.100 _.%hé 1.020 4 4.250 e
7.100 0.100 #zY X 2950 =& 4.000 6.178
0.850 1.200 &= 1.020
2REH S 5.020
Y 600 2500 & 4,000
1R /421
2REER 3.600 7.100 2 6.390 6.390
SRR 3.600 0.100 #zxY x 0500 0.350 f . 0.298 5
7.100 0.100 #zxY x 0.600 0.350 0.725
154 3.800 0.150 257 x  0.600 0.600 1.314 1.314
REANEE 3.600 0.100 #zxY x 3.150 2.125 3.230 4 7]
7.100 0.100 #zxY x 3.050 2.040 8.483
0.850 2500 & 2.125
1 B 4.165
Y 700 1200 & 2.040
1R EE 2.400 2500 B& 6.000 6.000
R . 3 LY X . = R Py ) b
Ry 3.600 0.100 #z%Y 0.900 0.350 215 0.536 o
7.100 0.100 #%FY X 0900 & 0.350 1.087
EREERAE 0.900 0.600 X 0.600 0.324 0.324




2fE /432

e o 3600 2 = 1.800
RELS 4.050
b k0 2 = 2.250
BB GESH1T) (3600 72+ 4500 ~2)x( 7.100 °2) = 14.378 14.378
7100 2 — 0100 #%Y X 0550 &= X 0350 PR = 0.664
RS2 3600 2 — 0.100 #%Y X 0.400 _.%_é x  0.350 gm% = 0.238 .
4500 2 — 0500 #%&Y x 0400 Z= X 0350 Rig = 0.245
4500 2 — 0250 Z®EY x 0350 = X  0.300 Rig = 0.210
2fE+E 3650 m& — 0.150 257 x 0.600 0.600 = 1.260 1.260
DR pLEE 3600 2 — 0100 #zxHY x 3.100 _.%hé - 1.020 Wi/ = 4.250 o
4500 2 — 0500 #%Y x 3100 @& — 0960 #v> = 4.465
. 0.850 Mg x 1.200 &= = 1.020
2y = 1.980
LRt 0.800 Mg x 1.200 &= = 0.960
2[E R BE 5.300 1@ x 2500 &E& = 13.250 13.250
1/32
2B R (3600 2+ 4500 ~2)x( 7100 .2) = 14.378 14.378
7100 2 — 0100 #%xY X 0600 F= X 0350 BRiE = 0.725
opER 3600 .2 — 0100 #%Y x 0.500 _.:j-é x  0.350 gzm% = 0.298 R
4500 2 — 0500 #%Y x 0500 Z= X 0350 RiF = 0.306
4500 2 — 0250 &Y x 0350 = X  0.350 RiE = 0.245
1P 4 3800 m& — 0.150 257 x 0.600 0.600 = 1.314 1.314
1 RELEE 3600 .2 — 0100 #&Y x 3.150 _.%hé - 2125 ﬂ\y:/ = 3.230 oS
4500 2 — 0500 #%&Y X 3.150 @& — 0500 #v> = 5.013
. 0.850 g X 2500 B = 2.125
13 2.625
T2 200 i x 2500 B = 0500
1P EE 4.400 1 x 2500 m& = 11.000 11.000
7100 2 — 0100 #%FY X 0900 Z= X 0350 BRiE = 1.087
Hg 3600 .2 — 0100 #%Y x 0900 Z= x  0.350 21 = 0.536 2174
4500 2 — 0500 #%Y x 0900 &= X  0.350 RiE = 0.551
E AR 0900 =& x  0.600 X 0.600 = 0.324 0.324




2[E/4E3

o— o 4500 2 = 2.250
INTGRY 3.700
L = 1450
BB (JEH4T) (4500 2+ 2900 2)x( 7100 2) = 13.135 13.135
7100 2 — 0100 #xY x 0550 ZH& X 0350 RiE = 0.664
RS2 4500 2 — 0300 #%Y x 0400 _.%_é X | 0350 gm% = 0.273 .
2900 2 — 0300 #%Y X 0400 Z= X 0350 Rig = 0.161
4500 .2 — 0175 2xY x 0350 ZJ= X 0300 RiE = 0.218
2fE+E 3650 m& — 0.150 257 x 0.600 0.600 = 1.260 1.260
DR pLEE 4500 2 — 0.100 #%FY X 3.100 _.%hé - 0.960 Wi/ = 5.705 e
2900 2 — 0500 #%Y x 3100 @& — 0720 #v> = 2.225
. 0.800 Mg x 1200 & = 0.960
2y = 1.680
Y 600 iEx 1200 &= = 0.720
2[E R BE 3.900 g x 2500 & = 9.750 9.750
1[5/4E3
2REER (4500 2+ 2900 2)x( 7100 2) = 13.135 13.135
7100 2 — 0100 #%xY X 0600 F= X 0350 BRiE = 0.725
oD 4500 2 — 0.100 #%Y x 0500 _.:j-é X | 0350 gém% = 0.376 e
2900 2 — 0500 #%Y X 0500 Zm& X  0.350 R0 = 0.166
4500 2 — 0175 2xY x 0350 Zm& X 0300 RiE = 0.218
1P 4 3800 m& — 0.150 257 x 0.600 0.600 = 1.314 1.314
—— 4500 2 — 0.100 #%FY x 3.150 _.%hé — 2500 ﬂ\y:/ = 4273 ST
2900 2 — 0500 #&Y X 3150 @& — 2125 #v¥ = 0.868
. 1.000 g x 2500 B = 2.500
1 Hws = 4625
Y2 es0 iEx 2500 B = 2125
1P EE 5.500 M@ x 2500 &m& = 13.750 13.750
4300 2 — 0100 #%Y x 0900 &= X  0.350 RiE = 0.646
Hige 2900 2 — 0500 #z%Y X 0900 Z= x 0350 Rig = 0.299 2.032
7100 2 — 0100 #%FY X 0900 Z= X 0350 BRiE = 1.087
HIEEIE 0.900 &= x  0.600 X 0.600 = 0.324 0.324




2fE/44

e o 2900 2 = 1.450
INTRY 5.000
b 0 2 = 3.550
BB (FEH4T) 2900 2 x 7100 2 = 5.148 5.148
it 1.500 X 1.100 = 1.650 1.650
RS2 2900 2 — 0500 #%Y X 0.400 _.%_é x  0.350 gm% = 0.133 o
7100 2 — 0100 #%Y X 0550 m= X 0350 Pig = 0.664
2fE+E 3650 m& — 0.150 257 x 0.600 0.600 = 1.260 1.260
D 5L EE 2900 2 — 0500 #%Y x 3.100 _.%hé 1.440 Wi/ = 1.505 95E
7100 2 — 0100 #FY X 2950 & 1920 ¥vs = 8.258
. 1.200 g x 1.200 &= = 1.440
2y = 3.360
LRt 1.600 g x 1.200 &= = 1.920
2[E R BE 1.900 g x 2500 & = 4.750 4.750
1/3x4
2REER 7100 2 x 2900 2 = 5.148 5.148
oD 2900 2 — 0500 #%Y x 0.500 _.:j-é 0.350 gém% = 0.166 e
7100 2 — 0100 #%Y X 0.600 Zx 0.350 i = 0.725
1P 4 3800 m& — 0.150 257 x 0.600 0.600 = 1.314 1.314
—— 2900 2 — 0500 #&Y x 3.150 _.%hé 2.125 ﬂ\y:/ = 0.868 Q0
7100 2 — 0100 #%FY X 3.050 & 1440 Hv> = 9.083
. 0.850 g X 2500 B = 2.125
13 3.565
Y>> 200 mx 1200 &= = 1.440
1FE A EE 1.000 g X 2500 & = 2.500 2.500
. . - o0 %Y X 0. = ) P = !
g 2900 2 0.500 #%Y 0.900 :é 0.350 %mf 0.299 ©
7100 2 — 0100 #%FY X 0900 Zx 0.350 i = 1.087
E AR 0900 &m& x  0.600 X 0.600 = 0.324 0.324




2R /5

e o 3600 2 = 1.800
INTGRY 5.350
L = 3.550
BB (JEH4T) 3600 2 x  7.100 2 = 6.390 6.390
RS2 3600 .2 — 0.100 #%Y X 0.400 _.%_é x  0.350 gm% = 0.238 T
7100 2 — 0100 #%xY X 0550 mx X 0350 Pig = 0.664
2fE+E 3650 m& — 0.150 257 x 0.600 X 0.600 = 1.260 1.260
DR pLEE 3600 2 — 0100 #zxHY x 3.100 _.%hé - 1.440 Wi/ = 3.830 G
7100 2 — 0100 #%FY X 2950 &mE — 4000 Hv = 6.178
. 1.200 g x 1.200 &= = 1.440
D[ Hw3 = 5.440
oY s00 g x 2500 B = 4.000
2[E R EE 1.700 g x 2500 &E& = 4.250 4.250
1/35
2B R 3600 2 x 7100 .2 = 6.390 6.390
opER 3600 2 — 0100 #%Y x 0400 _.:j-é x  0.350 gzm% = 0.238 A
7100 2 — 0100 #%FY X 0550 F= X 0350 PiE = 0.664
1P 4 3800 m& — 0.150 257 x 0.600 X 0.600 = 1.314 1.314
1RELEE 3600 .2 — 0100 #&Y x 3.150 _.%hé - 1.800 ﬂ\y:/ = 3.555 1608
7100 2 — 0100 #%FY X 2950 &mE — 2040 Hvi = 8.138
. 1.500 g X 1.200 &= = 1.800
13 3.840
Y22 00 mx 1200 &= = 2.040
g 3600 .2 — 0.100 #=%Y x 0.900 _.:j-é x  0.350 gém% = 0.536 .
7100 2 — 0100 #%FY X 0900 F= X 0350 Pig = 1.087
E AR 0900 &m& x  0.600 X 0.600 = 0.324 0.324




2fE /416

o— o 3600 2 = 1.800
7185 R 4.050
b k0 2 = 2.250
BB (JEH4T) (3600 2+ 4500 2)x( 7100 2) = 14.378 14.378
7100 2 — 0100 #%Y X 0550 &= X 0350 PR = 0.664
RS2 3600 .2 — 0100 #z%Y x 0400 _.%_é x  0.350 gm% = 0.238 .
4500 2 — 0500 #%&Y x 0400 Z= X 0350 Rig = 0.245
4500 2 — 0250 Z®EY x 0350 = X  0.300 Rig = 0.210
INR 0.300 x 0.450 x 1.975 = 0.267 0.267
2[5+ 3650 m& — 0.150 257 x 0.600 0.600 = 1.260 1.260
D5 EE 3600 .2 — 0100 #%Y x 3.100 _.%hé — 0480 Wi/ = 4.790 i
4500 2 — 0500 #%Y x 3.100 @& — 1080 #w>¥ = 4.345
. 0.400 Mg x 1.200 &= = 0.480
2y = 1.560
LRt 0.900 Mg x 1.200 &= = 1.080
2[E R BE 5.200 g x 2500 &E& = 13.000 13.000
1k5/46
2B R (3600 2+ 4500 ~2)x( 7100 .2) = 14.378 14.378
7100 2 — 0100 #%FY X 0600 Z= X 0350 BRiE = 0.725
opER 3600 2 — 0100 #%Y x 0500 5 x  0.350 gzm% = 0.298 R
4500 2 — 0500 #%Y x 0500 Z= X 0350 RiF = 0.306
4500 2 — 0250 &Y x 0350 = X  0.350 RiE = 0.245
IN 0.350 X 0.500 x 1.975 = 0.346 0.346
1P+ 3800 m& — 0.150 257 x 0.600 0.600 = 1.314 1.314
REEE 3600 .2 — 0100 #&Y x 3.150 _.%:é -  0.960 ﬂ\y:/ = 4.395 95
4500 2 — 0500 #%&Y X 3.150 @& — 0360 #v> = 5.153
. 0.800 g X 1.200 &= = 0.960
13 1.320
Y>> 300 mx 1200 & = 0.360
1P EE 6.100 g x 2500 & = 15.250 15.250
7100 2 — 0100 #%FY X 0900 F= X 0350 BRiE = 1.087
HgR 3600 .2 — 0100 #%Y x 0900 Z= x  0.350 21§ = 0.536 2174
4500 2 — 0500 #%Y x 0900 &= X  0.350 RiE = 0.551
HIEEE 0.900 &= x  0.600 X 0.600 = 0.324 0.324
D 0.350 X 0.500 x 1.975 = 0.346 ey
0.250 X 0.450 x 1.650 = 0.186




2[E/4E7

o= o 4500 2 = 2.250
NIRRT 00 2 = 1450 700
BiR (JEH4T) (4500 2+ 2900 2)x( 7.100 2) = 13.135 13.135

7100 . 2 — 0100 #zY X 0550 &= x 0350 PiE = 0.664
R 2 4500 2 — 0.300 #%FY X 0.400 ﬁ X | 0.350 %mﬁ = 0.273 8
2900 72— 0300 #%Y x 0400 &= x 0350 Zig = 0.161
4500 2 — 0175 2%Y x 0350 &= x 0300 Zig = 0.218
0300 X 0450 X 1.975 = 0.267
INR 0300 X 0450 X 1.175 = 0.159 0.766
0250 X 0450 X 3.025 = 0.340
2FE+E 3650 &m& — 0150 257 X 0.600 0.600 = 1.260 1.260
g, 4500 2 — 0100 #%FY X 3.100 %‘é - 1.320 *f‘w:/ = 5.345 S
2900 2 — 0500 #%Y x 3100 && — 0270 Hv> = 2.675
. 1.100 1 x 1200 & = 1.320
2BTYY 300 B x 0900 &= = 0270 %
2[R B 5.600 Mg x 2.500 B = 14.000 14.000
1RE/427
2[5 R (4500 2+ 2900 2)x( 7100 .2) = 13.135 13.135
7100 2 — 0100 #zY X 0600 Zx x 0350 R = 0.725
ol 4500 /2 — 0.100 #%Y x 0.500 %3 X | 0.350 ;?ém% = 0.376 e
2900 2 — 0500 #%FY x 0500 = x 0350 Zig = 0.166
4500 2 — 0175 2%y x 0350 &= x 0300 Zig = 0.218
0350 X 0500 X 1.975 = 0.346
INR 0250 X 0450 X 1175 = 0.132 0.818
0250 X 0450 X 3.025 = 0.340
10+ 3800 m& — 0150 257 X 0.600 0.600 = 1.314 1.314
. 4500 2 — 0.100 #%Y x 3.150 &m& — 0720 #v> = 6.053
1HESHE 2900 2 — 0500 #%Y x 3.150 &m& — 0960 Hv> = 2.033 8.085
fps 0.600 1E x 1.200 & = 0.720

TEYYY 800 g% 1200 &= = oo0 0%

1R EE 4.000 1ig x 2.500 B = 10.000 10.000
4300 72— 0100 #%FY x 0900 &= x 0350 Zig = 0.646

e 2900 2 — 0500 #%Y x 0900 == x 0350 248 = 0.299 2.032
7100 . 2 — 0100 #zY X 0900 Zx x 0350 R = 1.087

R 0.900 &m& x  0.600 x 0.600 = 0.324 0.324

HRENR 0.350 X 0.500 X 1.975 = 0.346 0.346




2ME/4E8
e o 2900 2 = 1.450
INTGRY 5.000
b 0 2 = 3.550
BB GESHT) 2900 2 x 7100 2 = 5.148 5.148
it 1.500 X 3.650 = 5.475 5.475
REE2 2900 2 — 0500 #%Y X 0.400 _.%_é x  0.350 gzm% = 0.133 a7
7100 2 — 0100 #%Y X 0550 m= X 0350 Pig = 0.664
INEE 0.300 X 0.450 X 1.175 = 0.159 0.159
2[E+E 3650 m& — 0.150 257 x 0.600 X 0.600 = 1.260 1.260
D 5L EE 2900 2 — 0500 #zxHY x 3.100 ﬁé - 1.080 Wi/ = 1.865 4 78]
7100 2 — 0100 #%FY X 2950 &m& — 0300 Hv = 9.878
. 0.900 g x 1.200 &= = 1.080
2y = 1.380
oY 0500 iEx 0600 B = 0.300
2[E R BE 2.400 1 x 2500 &E& = 6.000 6.000
1[Hs/4E8
2REER 7100 2 X 2900 .2 = 5.148 5.148
opER 2900 2 — 0500 #%Y x 0.500 _.%_é x  0.350 gzm% = 0.166 e
7100 2 — 0100 #%Y X 0600 mx X 0350 Pig = 0.725
INGE 0.250 X 0.450 X 1.175 = 0.132 0.132
154 3800 m& — 0.150 257 x 0.600 X 0.600 = 1.314 1.314
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